

bounded monotone seq. converges

$$\rightarrow a_{n+1} > a_n \quad \forall n \quad \& \quad \sqrt{2} \leq a_n \leq 2$$

$$a_{n+1} = \sqrt{2 + \sqrt{a_n}}$$

$$n=1: a_2 = \sqrt{2 + \sqrt{a_1}} = \sqrt{2 + \sqrt{2}} > \sqrt{2} = a_1$$

$$a_2 > 1$$

assume

$$n=k: a_{k+1} = \sqrt{2 + \sqrt{a_k}} > \sqrt{2 + \sqrt{a_{k-1}}} = a_k$$

$$a_{k+1} > a_k$$

$$n=k+1: a_{k+2} = \sqrt{2 + \sqrt{a_{k+1}}} = \sqrt{2 + \sqrt{2 + \sqrt{a_k}}} > \sqrt{2 + \sqrt{2 + \sqrt{a_{k-1}}}}$$

$$a_{k+2} > \sqrt{2 + \sqrt{a_k}} = a_{k+1}$$

$$a_{k+2} > a_{k+1}$$

$a_n$  bounded & monotone  $\Rightarrow a_n$  converges  
 seq. of real #'s & hence Cauchy

$$(a+b)^n = \sum_{k=0}^n \binom{n}{k} a^{n-k} b^k$$

$$= 1 \cdot a^n + \frac{n!}{2!(n-2)!} a^{n-1} b + \frac{n!}{3!(n-3)!} a^{n-2} b^2 + \dots + 1 \cdot b^n$$

$$(1+a_n)^n = 1 + n a_n + \frac{n(n-1)}{2} a_n^2 + \frac{n(n-1)(n-2)}{6} a_n^3 + \dots + a_n^n$$

$$a_n = \sqrt[n]{n} - 1. \text{ Prove: } n - (1+a_n)^n \geq \frac{n(n-1)}{2} a_n^2$$

$$(1+a_n)^n \geq \frac{n(n-1)}{2} a_n^2$$

Whole is always greater than the part

$$(1+a_n)^n \geq \frac{n(n-1)}{2} a_n^2 \quad \text{Prove } \sqrt[n]{n} \rightarrow 1$$

$$\frac{2}{n(n-1)} \cdot n \geq \frac{n(n-1)}{2} (\sqrt[n]{n} - 1)^2 \cdot \frac{2}{n(n-1)}$$

$$(\sqrt[n]{n} - 1)^2 \leq \frac{2}{n-1}$$

$$|\sqrt[n]{n} - 1| \leq \sqrt{\frac{2}{n-1}}$$